2-Way Slip-In Cartridge Valves
Combination Examples

Catalogue MSG11-3500/UK
2-Way Function

2-way seat valve, flow A= B

- N N ]
NHO) 1 \ [ A
P ! ] S ]
\ O~ - ———
" ! R gl B
C )3(@ H B 5
A
Description Type
P NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100
Cover ") CO16AA* C025AA* C032AA* CO040AA* CO50AA* CO063AA* CO80AA* C100AA*
Coverorifice (1| 1/16x20.8 1/16x@1.0 1/16x@1.2 1/8x21.5 1/8x21.8 1/8x22.0 1/8x@2.2 1/8x@2.5
Cartridge 2 CE016CO01* | CE025C01* | CE032C01* | CE040C01* | CE050C01* | CE063C01* | CE080CO1* | CE100CO1*
Poppet orifice @ 1/16x200
Spring 1.6 bar, type S
Bolt kit cover BK414 BK391 BK415 BK416 BK417 BK418 BK419 BK509
4x M8x40 4x M12x50 | 4x M16x55 | 4x M20x70 | 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130

) Complete type see ordering code C*A.
2) Complete type see ordering code CE*.

Shown orifice & and springs are recommendations.
xx@00 = closed bottom NG16 - NG50, plug NG63 - NG100

xx@99 = open
2-way seat valve with stroke limiter, flow A = B
- - - ]
1.4
)i( @ : 1 lA ________ -
o ! _ -
; - I
X = AT
; T y
q @ 8 B
A
Description Type
P NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100

Cover " C016B** C025B** C032B** C040B** C050B** C063B** C080B** C100B**

Coverorifice  (1)| M6x20.8 M6x@1.0 1/16x@1.2 1/16x@1.5 1/16x21.8 1/8x22.0 1/8x@2.2 1/8x@2.5

Cartridge 2 CEO016CO01* | CE025C01* | CE032C01* | CE040C01* | CE050C01* | CE063C01* | CEO80CO1* | CE100CO1*

Poppet orifice @ 1/16x200
Spring 1.6 bar, type S
Bolt kit cover BK414 BK391 BK415 BK416 BK417 BK418 BK419 BK509
4x M8x40 4x M12x50 | 4x M16x55 | 4x M20x70 | 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130

Shown orifice @ and springs are recommendations.
xx@00 = closed bottom NG16 - NG50, plug NG63 - NG100
xx@99 = open

) Complete type see ordering code C*B.
2) Complete type see ordering code CE*.

Examples-2way.INDD 02.08.22

Parker Hannifin Corporation

8-84




Catalogue MSG11-3500/UK
2-Way Function

2-Way Slip-In Cartridge Valves
Combination Examples

2-way functions with dampening poppet, flow A < B

- !

" | A
@ * —
X O T 1
; o
; 1y
@8 — N
A
o Type
Description NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100
Cover " CO16AA* C025AA* C032AA* CO40AA* CO50AA* CO063AA* CO80AA* C100AA*
Cover orifice  (1)| 1/16x@0.8 1/16x@1.0 1/16x@1.2 1/8x21.5 1/8x21.8 1/8x22.0 1/8x@2.2 1/8x@2.5
artridge
Cartridge 2 CE016C08* | CE025C08* | CE032C08* | CE040C08* | CE050C08* | CE063C08* | CE080C08* | CE100C08*
Poppet orifice @ 1/16x@00
Spring 1.6 bar, type S
Bolt kit cover BK414 BK391 BK415 BK416 BK417 BK418 BK419 BK509
4x M8x40 4x M12x50 4x M16x55 4x M20x70 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130
) Complete type see ordering code C*A. Shown orifice @ and springs are recommendations.
2) Complete type see ordering code CE*. xx@00 = plug
xx@99 = open
2-way functions with stroke limiter and dampening poppet, flow A < B
- - - - !
e TH |
H@ 3 | A
P . _ i |//‘ ———————— -||
X Pd O T 1
W OT]
! T1Yy
1 N
@[ LB B !
A
e Type
D t!
aseription NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100
Cover " Co016B* C025B* C032B* C040B* C050B* C063B* C080B* C100B*
Cover orifice  (1)| M6x20.8 M6x@1.0 1/16x@1.2 1/16x@1.5 1/16x@1.8 1/8x@2.0 1/8x@2.2 1/8x@2.5
Cartridge 2 CE016C08* | CE025C08* | CE032C08* | CE040C08* | CE050C08* | CE063C08* | CE080C08* | CE100C08*
Poppet orifice @ 1/16x200
Spring 1.6 bar, type S
Bolt kit cover BK414 BK391 BK415 BK416 BK417 BK418 BK419 BK509
4x M8x40 4x M12x50 4x M16x55 4x M20x70 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130
) Complete type see ordering code C*B. Shown orifice @ and springs are recommendations.
2) Complete type see ordering code CE*. xx@00 = plug
xx@99 = open
Examples-2way.INDD 02.08.22
8-85 Parker Hannifin Corporation




Catalogue MSG11-3500/UK
2-Way Function

2-Way Slip-In Cartridge Valves

Combination Examples

2-way seat valve with pilot, normally closed, flow A <+ B

N
| >< ) |
|
g YIVV 1
L by
———— - F__f__‘J L ————— - — - —
E— pupiny [ A L B o —
| | | ! | |
| ) | N P I ] }
[ L \ AN \ | I
y \ [ >< \ | A [
= [ r**J } /// \\\ } L**w i ‘ r**J
P T S \ g A \ S 1 S G A________
P AT B T [P Al BT [P A B T ks 7
- N N L T I I O A |
o AR I R o 1
o L | I L | | I I | VA T\ Y F—
|
[ } T**} }**T } [ } 5 | I -5 -t I T | ST .
®0 @6 |00 O 6@ O xve
e n oo u nou W W e
| | | | | | | | | | | | | | | | | |
X Z1 L 122 Y] X 72 L 121 0Y] (X 22 | 1Z1 Y|
>
n@[ L8 N[ L O] m:2
A A A
NG16 - 40 with NG50 - 63 with NG50 - 100 with
pilot NG06 pilot NG06 pilot NG10
Adaptor plates see chapter 12.
Type
Description Pilot NG06 Pilot NG10
NG16 NG25 | NG32 | NG40 NG50 | NG63 NG50 | NG63 NG80 | NG100
4/2-DC valve ") D1VW20B* D3W20H*
Adaptor plate 2 without PADA1007/A-B/B-A without
Cover 3) CO16CA* | C025CA* | C032CA* | CO40CA* | CO50CA* | COB3CA* | CO50CA* | COB3CA* | CO80CA* | C100CA*
Cover orifice (1)| M5x@0.8 | M5x@1.0 | M5x@1.2 | M5x@1.5 | M6x@1.8 | M6x@2.0 | M6x@1.8 | M6x@2.0 | 1/16x@2.2 | 1/16x22.5
Cover orifice (2) M5x@00 M6x300 1/16x@00
Cover orifice (3)| M5x@1.0 | M6x@1.2 | M6x@1.5 | M6x@1.8 | M8x@2.0 | M8x@2.2 | M8x@2.0 | M8x@2.2 |M10x1x@2.5|M10x1x@3.0
Cover orifice @ M5x99 M6x@99 M8x@99C M10x1x2Z99
Cartridge 4 CE016C04*|CE025C04*|CE032C04*|CE040C04*|CE050C04*|CE063C04*|CE050C04*|CE063C04*|CE080C04*|CE100C04*
Poppet orifice (2) 1/16NPTX@00
Spring 1.6 bar, type S
Bol kit cover BK414 | BK391 BK415 | BK416 | BK417 BK418 BK419 BK509 BK419 BK420
4x M8x40 |4x M12x50 | 4x M16x55 | 4x M20x70 | 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130 | 8x M24x120 | 8x M30x140
Bolt kit pilot BK375 4x M5x30 BK385 4x M6x40

1
2
3
4

Complete type see ordering code C*C.
Complete type see ordering code CE*.

Examples-2way.INDD 02.08.22

NG10-NGO06 inclusive O-rings and mounting bolts.

Complete type see chapter "Directional Control Valves", series D1VW, D3W.

Shown orifice @ and springs are recommendations.
xx@300 = closed bottom NG16 - NG50, plug NG63 - NG100

xx@99 = open

8-86

Parker Hannifin Corporation



Catalogue MSG11-3500/UK 2-Way Slip-In Cartridge Valves
2-Way Function Combination Examples

2-way seat valve with pilot and dampening poppet, normally closed, flow A < B

P A B T
P A B T P A B T P A B T
3 1 2 4 3 2 1 4 3 2 1 4
e——
X z1 22 Y X 22 21 Y X 22 z1 Y - 1
O |
J
VA2 S m—
| N\,
a B a B a B T | D 4
XY B
A A A
NG16 - 40 with NG50 - 63 with NG50 - 100 with
pilot NG06 pilot NG06 pilot NG10
Adaptor plates see chapter 12.
Type
Description Pilot NG06 Pilot NG10
NG16 NG25 | NG32 | NG4o NG50 | NG63 NG50 | NG63 NG80 | NG100
4/2-DC valve ") D1VW20B* D3W20H*
Adaptor plate 2 without PADA1007/A-B/B-A without
Cover 3 CO16CA* | CO25CA* | C032CA* | CO40CA* | CO50CA* | COB3CA* | CO50CA* | CO63CA* | CO80CA* | C100CA*
Cover orifice ()| M5x@0.8 | M5x@1.0 | M5x@1.2 | M5x@1.5 | M6x@1.8 | M6x@2.0 | M6x@1.8 | M6x@2.0 | 1/16x@2.2 | 1/16x22.5
Cover orifice (2) M5x@00 M6x200 1/16x200
Cover orifice (3)| M5x@1.0 | M6x@1.2 | M6x@1.5 | M6x@1.8 | M8x@2.0 | M8x@2.2 | M8x@2.0 | M8x@2.2 |M10x1x@2.5M10x1x@3.0
Cover orifice @ M5x@99 M6x299 M8x@99C M10x1x@99
Cartridge 4 CE016C08*|CE025C08*|CE032C08*|CE040C08*|CE050C08*|CE063C08*|CE050C08*|CE063C08*|CE080C08*|CE100C08*
Poppet orifice (8) 1/16NPTx@00
Spring 1.6 bar, type S
Bolt kit cover BK414 BK391 BK415 BK416 BK417 BK418 BK419 BK509 BK419 BK420
4x M8x40 | 4x M12x50 | 4x M16x55 | 4x M20x70 | 4x M20x75 |4x M30x100 | 8x M24x120 | 8x M30x130 | 8x M24x120 | 8x M30x140
Bolt kit pilot BK375 4x M5x30 BK385 4x M6x40

) Complete type see chapter "Directional Control Valves", series D1VW, D3W. L X .
2) NG10-NGO6 inclusive O-rings and mounting bolts. Shown orifice @ and springs are recommendations.

3) Complete type see ordering code C*C. xx@00 = plug
4 Complete type see ordering code CE*. xx@299 = open

Examples-2way.INDD 02.08.22

m 8-87 Parker Hannifin Corporation




Catalogue MSG11-3500/UK 2-Way Slip-In Cartridge Valves
Check Function Combination Examples

Check valve, flow A= B

- - - S
r=——=-=-=== 1 !
W@ ! \
— ! _ ‘ B
X1
! 1
1 |
L_..d 1@y s A
A
o Type
D t
oscription NG16 NG25 NG32 NG40 NG50 NG63 NG80 NG100

Cover CO16AA* CO25AA* CO32AA* CO40AA* CO50AA* COB3AA* CO80AA* C100AA*

Cover orifice (1) M5x@99 M6x@99 1/16x299

Cartridge 2 CE016C01* | CE025C01* | CE032C01* | CE040C01* | CE050C01* | CE063C01* | CE080C01* | CE100C01*

Poppet orifice @ 1/16NPTx@Z00

Spring 1.6 bar, type S

Boft kit cover BK414 | BK391 | BK415 | BK416 BK417 | BK418 BK419 | BK509

4x M8x40 | 4xM12x50 | 4x M16x55 | 4x M20x70 | 4x M20x75 | 4x M30x100 | 8x M24x120 | 8x M30x130
) Complete type see ordering code C*A. Shown orifice & and springs are recommendations.
2 Complete type see ordering code CE*. xx@00 = closed bottom NG16 - NG50, plug NG63 - NG100

xx@99 = open

Examples-2way.INDD 02.08.22

m 8-88 Parker Hannifin Corporation




